Y9 - Autumn - Block 1 - Step 4 - Compare intercepts

Question | Answer
a) P y=x+1 R y=-3x+1
x -2 -1 0 1 2 X -2 -1 0 1 2
y -1 0 1 2 3 y 7 4 1 -2 -5
Q y=—-2x+1 S =%x+1
! x| 2| alo 1| 2]|]lx] 2] a]o0o]|1]2
y 5 3 1 -1 -3 y 0 0.5 1 1.5 2
b) All lines plotted correctly and with corresponding labels.
c) All the lines pass through (0, 1) or have the same y-intercept.
a) J y=x+5 L y=-3x—-1
x -2 -1 0 1 2 x -2 -1 0 1 2
y 3 4 5 6 7 y 5 2 -1 -4 -7
Ky=2x-3 y=2—x
> x -2 -1 0 1 2 x -2 -1 0 1 2
y -7 -5 -3 -1 1 y 4 3 2 1 0
b) Alllines plotted correctly and with corresponding labels.
c J(O5) K(0,-3) L(O-1) M (0 2)
The y-coordinate is where the line crosses the y-axis
d) (0,22
a) (0,5)
3 b) eg y = 7x+ 5acceptany linewherem >4andc =5
c) Correct line sketched where the line crosses the y-axis at 5 and has a negative gradient.
y=8x+9 y=8x+5 y=8x—-7
(0,9) (0,5) (0,-7)
y=9—8x 7x+9 =y y=2x+5+4
o
4
6,9 (0,9) 0,9)
1 9 y=9x+8 7—-8—-x=y
==X — = — — =
Y =8 v v
(0,9) (0,8) (0,9




Y9 - Autumn - Block 1 - Step 4 - Compare intercepts (continued)

Question | Answer
1
a) y=5x+5 (0,5)
b) 5y 41 !
y=5x+3 (0,3)
c) 17—8x=y (0,17)
5
d) y=127+x (0,12.7)
5 17 17
e) y=3x+3 0,%)
f) —18x =y (0,0)

a) Lyy=7x-9

b) Luy=7x+3

a)y=3x-12

b)y =-9x+35




